1142 E<Z 2 ABERE 2B h

==> R1

#1: 9 BEH(19.22) #2: 3 JEFEEHRS(17.34) #3: 11 KIES(16.39)

1 NS: BRECN &858 (BH0) -5 2 NS: BE#E L£&M(BAC) 13 VP:| 4.48 15.52| Total VP: 4.48 Rank:
EW: & 583 EAC) -13 EW: BRZE0 BREZ(BH0) 5 IMP:| 12 30 10
_ - I o
# 21 » J82 4HEG -480 Mean: 3HE4 170 6.0 1 |[|# 22 & AQ8632 5CXS-2 -300 Mean: 5HE-2 200 9.0 1
v 85 3HE6 -230 -390 3HW6 230 40 1 oT 5CS-1-50 -190 3CS4 130 80 1
+ A964 Dif: -250 NS:-3 3HE6 230 40 2 ¢ 43 Dif: -250 NS:-3 5HE-1 00 70 2
» AQ75 IMP: -6 EW:-4 4SW4 420 1.0 1 » A876 IMP: -6 EW:-4 4HW-1 100 70 1
& AQT95 # K6 4HE4 420 1.0 1 ||a J754 » KT9 5CS-1 50 40 1
v 93 v AKQJT6 4HE5 450 20 1 ||v AQ97 —_ v K6532 5CXS-1 100 3.0 2
¢ T53 | * KJ7 4SW6 480 -3.0 1 ||e AQ95 ¢ KT8 3SN-4 200 0.0 1
& J43 & 86 4SE6 480 30 1 ||a5 & 43 5CXS-2  -300 -3.0 1
POIVEN ,743 4HE6 480 30 5 PIVEN , 5HE5 -650 -10.0 2
N 1~~~~ 9742 N 4~~~~ ¢J84 4HW5 650 -10.0 1
S 1~~~~ Q82 S 4 ~~~~ 4J762 4HE4 620 -100 1
E ~~442 aKT92 E ~34~~ aKQJT92
W ~~442 W ~33~~
# 23 » K72 2NW2 -120 Mean: 2NXW-5 1400 15.0 1 ||# 24 » J6542 4DS5 150 Mean: 5HXE-2 300 7.0 1
w74 2SN2 110 280  3SXN4 930 120 1 v A 3CW3-110 20  4HXE-2 300 7.0 1
+ AKJ63 Dif: -230 NS:-9 4SS4 620 80 1 + AB654 Dif: 260 NS:4 4HE-3 150 40 1
a T32 IMP: -6 EW:5 3NW-4 400 30 1 » 86 IMP: 6 EW:4 4DS5 150 40 1
4 AQ6 s 54 3NW-2 200 -20 1 || KQT7 a4 A83 4DN5 150 40 1
v Q82 + v A9 3sS3 140 40 1||eT v QJ98542 4DN4 130 30 1
+ QT875 ¢ 94 3SN3 140 40 1 []|e2 + 93 5CXW-1 100 20 2
& J5 S & AQ9874 2SS2 110 5.0 1 ||s AQJ9752 &3 4HE-1 50 10 1
®IVEN ,JT983 2SN2 110 5.0 2 PIVEN 4,9 5DXS-1 100 -30 1
N ~~23~ ¢KJT53 2HS2 110 50 1 [|N ~4 ~~1 ¢ K763 3HE3 140 40 2
S ~~23~ 42 3HS-1 100 9.0 1||S ~4~~1 ¢ KQT7 3CW3 110 -40 1
E 2~~~1 aK6 2NW2 4120 90 1 ||E 3 ~31~ a&KT4 4HXE4 -590 120 1
W2~~~1 2HS-1 100 90 1||w 3~31~
# 25 » K9652 3NS-2 -100 Mean: 3NS3 400 9.0 1 # 26 & T62 3DS3 110 Mean: 4SE-2 200 30 1
v KJ4 3NS3400 10  2SN4 170 40 1 v T6 3DS3110 110  3SE-2 200 30 1
+ KQT Dif: -500 NS:-3 2SN2 110 30 1 ¢ QT43 Dif: 0 NS:0 4DS4 130 1.0 1
» Q6 IMP: -11 EW:-9 1NN2 120 30 1 » AQ94 IMP: 0 EW:0 3DS4 130 10 2
s AT s QJ43 2DN2 90 20 2 ||a A7 # Q98543 2HS3 140 10 1
v T976 v 532 5DN-2 100 3.0 1 ||v 854 + v AJ9 3DS3 110 00 5
¢ J943 ¢ 76 3NS-2 100 30 6 ||e J5 * A2 2SE-1 100 00 1
& K87 & AJ95 3NN-2 100 3.0 1 ||& KT7632 & 85 2HS2 110 00 1
POVEN ,87 PIVEN LK 3DS-1 100 -50 1
N ~2~22 ¢AQ8 N ~42~~ ¢ KQ732
S ~2~22 ¢ A852 S ~ 42~ ~ o K9876
E ~~~~~ aT432 E~~~1~ aJ
W~~~~~ Wo~~~1~
# 27 aJ3 3HE4 -170 Mean: 2DXS2 180 10.0 1 ||# 28 » QJ43 3NE-1 50 Mean: 3NW-1 50 70 1
v 752 4SW4 -420 -250  4SW-1 50 70 1 v Q953 3NE-150 -230 3NE-1 50 70 4
¢ QT52 Dif: 250 NS:2 3HW3 140 3.0 1 ¢ 84 Dif: 0 NS:7 1NW5 210 1.0 1
» KJ76 IMP: 6 EW:5 3sSw4 470 20 1 » J87 IMP: 0 EW:-7 5CE5 400 50 1
# 98764 » KQ5 3HE4 170 20 1 ||s 62 s A87 3NW4 430 50 2
v AJT3 v KQ84 2swW4 470 20 2 ||v AK2 | v JT6 3NW3 400 50 1
+ AK6 ¢ 83 4SW4 420 50 2 ||e KT632 + Q95 3NE4 430 50 1
a2 & T983 4HW4 420 50 3 ||a& A42 & KQ65 3NE3 400 50 2
PIVEN ,AT2 4HE4 420 50 2 POIVEN 4, KTS 3NW5 -460 6.0 1
N 11~~~ 99 N ~~~~~ 9874
S 11~~~ J974 S ~~~~~ ¢ AJ7
E ~~441 »AQ54 E 55~~3 &T93
W ~~441 W 55~~3
# 29 a K 4HS4 620 Mean: 3NS6 690 40 1 ||# 30 & A984 3CS3 110 Mean: 3NS3 400 60 1
v K6 4HS5 650 560  4HS5 650 3.0 4 v K2 A 170  3NN3 400 6.0 2
¢ QT873 Dif: -30 NS:2 3NS5 660 3.0 3 + K6 Dif: 0 NS:-2 A 00 3
a J8742 IMP: -1 EW:-3 3NN5 660 3.0 2 » KJ964 IMP: 0 EW:0 2SN3 140 1.0 1
# T953 N 4 Q8762 4HS4 620 2.0 2 ||a KJ32 » Q7 2NS3 150 1.0 1
v 9742 v J5 4DN5 150 9.0 1 [|v AT86 v 9543 3CS3 110 20 1
 J95 + o+ A6 5DN-1 <100 120 1 ||e QJ3 + T9542 3CN3 Mo 20 1
& 63 & AT95 & 72 & AT 2SN2 110 -20 1
PIVEN L, AM PIVEN L, T65 3DW-1 50 3.0 1
N 455 ~5 ¢ AQT83 N 3~~22 o QJ7 2HE-1 50 -3.0 2
S 455 ~5 ¢ K42 S 3 ~~22 ¢ A87
E ~~~~~ aKQ E ~1~~~ &Q853
W ~~~~~ W ~1~~~




X AN 33z ‘; R
2 11431;*1 iﬁ#ﬁﬁm% & ==> R2 2
1 NS: BREGH ﬁ%%(ﬁﬁ@ -4 7 NS: Alan SIA Diana SUN(H P:| 3.03 : 16.97| Total VP: 7.51 Rank:
EW: & £552=EA0) 21 EW: Radihike RYRN Sunn IMP:| 23 48 13
-
#1 a4 6SW7 -1010 Mean: 5NE7 520 9.0 1 |[|#2 a K 3NW3 -400 Mean: 4HE-2 100 10.0 1
v 65 6SW6 -980 -920  4SW7 510 9.0 1 o JT 4HE4 -420 -380 3HE4 170 5.0 2
o T942 Dif: -30 NS:-3 6SW6 980 -2.0 6 + KQT8632 Dif: 20 NS:-1 4HE4 420 1.0 2
» J98742 IMP: -1 EW:2 6SE6 980 20 2 » Q98 IMP: 1 EW:1  3NW3 400 1.0 1
& AKT98763 s Q5 6SW7 1010 -3.0 2 ||a A42 » J73 4HW5 450 20 5
v K v J432 6SE7 1010 -3.0 1 ||v K86 I v AQ9543 4HE5 450 20 2
* K + AQJ6 6NE7 1020 3.0 1 ||e AJ 75 4SXS-3 800 9.0 1
& Q65 & AK3 & KT763 & 42
®IVeN L2 ®*eveN L QT9865
N ~ ~~ ~ ~ ¢ AQT987 N ~1~1~ 972
S ~~~~~ 48753 S ~1~1~ ¢9%
E ~5~65 aT E 2~5~3 aAJS5
W ~5~65 W 2~5~3
#3 » KT8 3HE3 -140 Mean: 4HE-1 100 90 1 |[|#4 » KT92 3CN6 170 Mean: 3NN4 630 10.0 1
v J74 4HE4 -620 -300 3HE3 140 40 1 v J2 3NN4 630 180  3HE-4 400 6.0 1
» K942 Dif: 480 NS:4 1NE3 150 40 6 + A8 Dif: -460 NS:0 1NS5 210 1.0 1
» 842 IMP: 10 EW:8 1NE4 180 3.0 1 » AT953 IMP: -10 EW:-10 3CN6 170 00 1
a J72 & AQ5 4HW4 620 -80 1 ||s Q764 s AJ83 2NS4 180 00 1
v K865 v QT932 4HE4 620 -80 4 ||v Q98 + v K7654 1NS4 180 00 1
¢ T5 + QJ8 + K53 ¢ T94 4CN5 150 1.0 1
& KT76 & AQ & J62 & Q 3CN5 150 1.0 3
PIVEN ,9643 POIVEN 45 4CN4 130 20 1
N ~~~~~ ¢A N 53 ~~3 ¢ AT3 3CN3 110 20 1
S ~~~~~ ¢A763 S 53 ~~3 ¢ QJ762 2SW-1 100 20 1
E ~~4~3 aJ93 E ~~~~~ aK874 5CN-1 4100 70 1
W ~~4~3 W ~~~~~
#5 » AK8 3HW-150 Mean: 3NS3 600 110 1 ||#6 a J73 4SW4 -620 Mean: 6SXW-3 800 140 1
v T84 3CS-1-100 40  1NS3 150 3.0 1 v AK4 6HXE-2 500 -220  6HXE-2 500 12.0 1
¢ 6432 Dif: 150 NS:0 4HW-2 100 20 1 * T7 Dif: -1120 NS:-9 5SW-2 200 9.0 1
 T54 IMP: 4 EW:4 3CS3 110 20 1 » JT653 IMP: -15 EW:-12 4SW-2 200 9.0 1
s JT763 # 952 1NS2 120 2.0 1 ||s AKQ9652 'y SHE-1 100 80 1
v AJ52 v K976 3HW-1 50 00 2 ||eT6 —_— v QJ98753 4HE-1 100 80 1
+ KQ8 ¢ T75 3HE-1 50 00 1 ||e AK9 ¢ J65 4SW4 620 90 3
&8 & KJ6 4CS-1 100 -40 1 ||a & K84 5HE5 650 -100 3
PIVEN L, Q4 3CS-1 100 -40 1 PIVEN , T84 4HW5 -650 -10.0 1
N 32~~3 ¢Q3 2HE2 110 40 2 ||N 1 ~~~~ @2 4HE5 650 -10.0 1
S 32~~3 ¢AJ9 2DS-1 100 -40 1||S 1~~~ ~ o Q8432
E ~~22~ aAQ9732 2HW3 -140 5.0 1 E ~~23~ a&AQ97
W ~~12~ W ~~23~
#7 a 82 3CXE-1200 Mean: 3CXE-1 200 80 1 ||#8 a K53 3NW4 -430 Mean: 5DW-2 100 70 1
v 86542 2SE3 -140 -130 2DW-2 200 80 1 v 97 3DE4 -130 -200  3NW-1 50 60 2
+ AK874 Dif: 340 NsS:8 3CE3 410 1.0 2 ¢ 65 Dif: -300 NS:-6 3DW3 410 3.0 2
a3 IMP: 8 EW:0 2DN-1 100 1.0 1 » 987543 IMP: -7 EW:-2 3DE4 130 20 1
» KQT9 s A73 2CE2 90 1.0 1(]|aT & AJ642 2NW3 150 2.0 1
v 973 + v AQJ 2SW3 140 00 1 ||v J863 v K42 2NE3 150 2.0 1
+ T9632 *J 2SE3 140 00 1 ||e K972 * QJT4 3NW3 400 -50 5
aJ S & AT9652 2NE3 150 1.0 1 ||& AKT2 & Q 3NW4 430 60 1
®IVeN ,LJ654 1NE3 150 1.0 1 PIVEN 4, Q987
N ~~~~~ KT 2DS-2 200 20 1||N 1~~~ ~ o AQT5
S ~~~~~ 4Q@5 1NN-2 200 20 1||S 1 ~~~~ ¢ A83
E 2 ~~ 32 aKQ874 2CS-4 -400 7.0 1 E ~42~3 aJb6
W 2~~22 3HXN-2 500 90 1 [|W ~32~3
#9 » AKT742 3SN4 170 Mean: 1NXE-5 1400 140 1 ||# 10 » AKQT7 5SXN5 850 Mean: 4SXN6 1190 13.0 1
v KJ 4SN5450 480  4SN5 450 1.0 6 v 6 4SXN6 1190 420  5SXN5 850 10.0 1
+ K6 Dif: -280 NS:-7 4SN4 420 20 6 ¢ 9864 Dif: -340 NS:10 4SN5 650 6.0 5
» 765 IMP: -7 EW:1 3SN4 170 7.0 1 » 853 IMP: -8 EW:-13 5HE-2 200 6.0 1
J5 s Q9 # 962 8 3SN5 200 6.0 3
v T9742 v AQ86 v J7432 + v AKT9 4HW-1 100 -80 1
¢ JT2 ¢ 8754 ¢ JT2 . AKQ73 1DE1 -70  -10.0 1
& Q84 & KJ3 & T4 & Q96 1DE3 110 110 1
®eveN o863 ®IVveN ,J543
N 3~~55 ¢53 N 4~~5~ Q85
S 3~~52 ¢AQ93 S 4~~5~ 45
E ~~~~~ aAT92 E ~23~~ &AKJ72
W ~~~~~ W ~23~-~
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#1: 3 ILZRERR(47.67) #2: 9 ZE5E(43.82) #3: 11 KIES(40.01)
1 NS: BE% BEFEH(BHO) -32 1 0 NS: FRiEL R1EE(BAC) 36 VP:| 0.00 20.00| Total VP: 7.51 Rank:
EW: S5 £52E0) -36 EW: EE¥ iR %= (F0) 32 IMP:| 7 ;62 14
_ _
# 11 a 52 4HW4 -420 Mean: 4HW-1 50 80 1 [[|# 12 » 962 3NE3 -400 Mean: 5CE-1 50 80 1
v T4 4HW4 -420 310  4CN-3 150 40 1 v QT84 3NE-150 -280 3NE-1 50 80 3
¢ T53 Dif: 0 NS:-3 3HWA4 170 40 2 + Q9653 Dif: -450 NS:-3 3NW3 400 3.0 1
» AQJ832 IMP: 0 EW:3 2HW4 170 40 1 a3 IMP: -10 EW:-8 3NE3 400 30 4
KQ7 » T963 4HW4 420 30 8 ||a KT5 » AQ4 3NE4 430 40 5
v AK8762 v J53 4HE4 -420 3.0 1 v J953 I v K7
¢ 72 + KQJ98 + K8 ¢ J74
& 65 & K & K987 & AQJTS
*eveN LAJ8 ®¢VeN L J873
N 3~~~1¢Q9 N ~~~~~ ¢ A62
S 3~~~1 ¢A64 S ~~~~~ o4 AT2
E ~342~ aT974 E 4~~~3 a642
W ~342~ Wi4~~~3
# 13 » AQ7 1NS1 90 Mean: 2NS2 120 6.0 1 # 14 & AK 3SW5 -200 Mean: 3NE-2 100 50 1
v Q942 2NS-2-200 -100  1NS1 90 50 2 v JT53 3NE-2100 -90  5DE-1 50 40 1
¢ 9832 Dif: 290 NS:5 2NS-1 100 00 5 ¢ T65 Dif: -300 NS:-3 4SW-1 50 40 5
»92 IMP: 7 EW:3 2NS-2 200 30 6 » 8642 IMP: -7 EW:-5 3NE-1 50 40 1
s J54 N 4 T632 4 Q987543 s J 3sw4 170 20 2
v J65 v AT8 v AK8 v 97 35W5 200 30 1
+ KQ74 -|— 6 *J4 + AK9873 4SW5 450 8.0 1
+ KT6 + QJ543 +Q * KJT7 4sw4 420 80 2
®eveN ,KI8 ®eveN ,T62
N ~22~1 ¢K73 N ~~~~~ ¢ Q642
S ~22~1 ¢AJTS S ~~~~~ Q2
E 1~~~~ aA87 E ~4~41 & A93
W1~~~~ W ~4~41
#15 » KJ532 4HW4 -420 Mean: 4SXS4 790 130 1 ||# 16 » JT74 4SS5 450 Mean: 5SN7 510 1.0 1
v T94 4SXS4790 40  5HXW-2 300 60 1 v K5 4SN7 510 480  4SS7 510 1.0 3
+ Q6 Dif: 1210 NS:-10 3SS4 170 40 1 *5 Dif: -60 NS:-1 4SN7 510 1.0 3
» 954 IMP: -15 EW:-13 5HXW-1 100 2.0 4 » AQ9873 IMP: -2 EW:-1 4SN6 480 0.0 1
s Q9 a7 5HW-1 50 00 3 ||a98 s 52 5SS5 450 1.0 1
v AQ762 v KJ85 4HW-1 50 0.0 1 ||e J832 _— v AQ764 4sS5 450 1.0 5
¢ JT8 ¢ A532 4HW4 -420 -10.0 3 ||e T9732 + KQ86
& KQT & 8632 & JT & 52
P¢VEN , AT864 *¢VveN , AKQ63
N ~~~3~ @3 N 6~~66 «T9
S ~~~3~ ¢K974 S 5~~52 ¢AM
E 224~~ aAJ7 E ~~~~~ &K64
W 224-~~ W ~~~~~
# 17 a75 2NN3 150 Mean: 2HXW-3 500 70 1 ||#18 & Q975 2SS4 170 Mean: 2SXE-4 800 7.0 1
v QT98 3NN3 400 210 3NN4 430 60 1 v KQJ82 4SS4 620 490 4SS5 650 4.0 1
*» QJ5 Dif: -250 NS:-2 3NN3 400 50 5 . Dif: -450 NS:-8 4SS4 620 4.0 8
» Q976 IMP: -6 EW:-5 2NN3 150 2.0 1 » AJ95 IMP: -10 EW:-4 4HS4 620 40 1
» AQ2 » J93 2NN2 120 3.0 2 ||a K3 # ATS 2sS4 170 80 1
v AJ53 v 642 3NN-1 50 -6.0 2 ||e T9753 v 64 4SN-1 100 -11.0 1
¢ 87432 + KT9 5CXs-1 100 7.0 1 ||e Q943 + K852 2DS-2 200 120 1
& & T432 5CS-2 100 7.0 1 » Q4 & KT62
®eVeN LKT864 ®eveN L J642
N 4~~32 oK7 N 2~~32 vA
S 4~~42 ¢A6 S 2~~32 ¢ AJT76
E ~~~~~ aAKJ8 E ~1~~~ a873
W ~~~~~ W~1~~+~
#19 » 94 1NS190 Mean: 5CXS6 650 100 1 [|# 20 » KJ43 2NS2 120 Mean: 4CXW-3 800 10.0 1
v9 1NS3 150 170  3NS3 400 60 2 v K63 3NN3 600 320 3NN5 660 8.0 1
+ K97532 Dif: -60 NS:-2 4DS5 150 1.0 1 ¢ JT652 Dif: -480 NS:-5 3NS3 600 7.0 1
» QJ74 IMP: -2 EW:1 3DS5 150 1.0 1 a A IMP: -10 EW:-7 3NN3 600 7.0 3
» KJ65 » QT873 3DN4 130 1.0 4 ||a A65 » QT87 1DW-4 400 20 1
v KQT7 v 8542 1NS3 150 1.0 2 ||e AJT2 + v Q985 4DS5 150 50 1
* Q84 oT 1NS1 90 20 1|]|e 83 *4 3DS4 130 50 1
& T9 & A53 3NS-2 4100 70 2 ||a Q865 & J732 3DN5 150 50 1
PEVEN LA2 POIVEN 4,92 2NS2 120 50 1
N 55~ ~2 ¢AJ63 N ~5~~3 74 5DN-1 100 9.0 1
S 55~~2 ¢AJ6 S ~5~~3 ¢ AKQ97 3NS-1 100 -9.0 1
E ~~11~ aK862 E ~~1~~ a&KT9%4 3NN-1 -100 -9.0 1
W ~~11~ W1~1~+~
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#1: 3 55 EERE(59.17) #2: 9 XHE(58.87) #3: 11 KJES(48.51)

1 NS: Byt €258 FH0) -10 8 NS: FH& REKIR(BAC) -15 VP:| 9.61 10.39| Total VP: 17.12 Rank:
EW: & 2522 E0) 15 EW: 15 k5AE(BFO) 10 IMP:| 14 15 14
v N
# 21 & Q9872 4SN5 650 Mean: 4SN6 680 50 3 ||# 22 & QJ2 3NN5 460 Mean: 3NN5 460 1.0 2
v AQ 4SN5 650 480  4SN5 650 5.0 4 v A74 3NN4 430 420 3NS4 430 00 3
6 Dif: 0 NS:5 4SN4 620 4.0 2 ¢ KT8 Dif: 30 NS:1  3NN4 430 00 5
» JT862 IMP: 0 EW:-5 2SN6 230 60 1 » Q976 IMP: 1 EW:0 3NN3 400 1.0 4
4 65 s JT4 2SN4 170 7.0 2 ||a 93 # K8654
v JT82 v 965 1NS5 210 7.0 1 v KT92 — v 85
+ KQ85 | + A732 1NS3 150 80 1 |[e 654 + A32
& A75 & Q93 & K853 & J42
*eveN LAK3 ®IVeON LAT7
N 3 ~~53 ¢K743 N ~43~4 ¢ QJ63
S 3 ~~53 ¢JT94 S ~43~4 ¢QJ97
E ~~~~~ aK4 E ~~~~~ &aAT
W~~~~~ W~~~~~
# 23 » 9852 3NE-2200 Mean: 3NE-2 200 100 1 ||# 24 » A74 4HS6 480 Mean: 4HS6 480 20 5
eT9 3NW4 -630 -240  3NW-1 100 80 1 v KJ96 4HS6 480 400  4HSS5 450 2.0 2
¢ 762 Dif: 830 NS:10 3NE-1 100 80 2 + A874 Dif: 0 NS:2 4HS4 420 1.0 4
» KT87 IMP: 13 EW:9 3CW-1 100 80 1 » Q2 IMP: 0 EW:-2 4HN4 420 1.0 2
» KQ4 a J73 2HE3 140 30 2 ||a Q62 a T95 6HN-2 100 110 1
v 76 + v AKQS2 2HE4 70 20 1 ||v 73 v?2
¢ T54 ¢ KJ3 3NW3 -600 -8.0 4 ||e 9532 + KJT6
& Q9542 S & AJ 3NE3 -600 -8.0 1 [|& A974 & KJT65
®IVON LAT6 3NW4 630 9.0 1 PEVEN 4, KJE3
N ~~~~~ ¢J543 N ~~442 ¢ AQT854
S ~~~~~ +AQo8 S ~~442 4Q
E 2~3~3 a63 E ~~~~~ 483
W 2~3~2 W ~~~~~
# 25 » AQT3 3NW4 -630 Mean: 4SS4 420 100 2 ||# 26 » AKQ72 4SS6 680 Mean: 6SS6 1430 80 7
v AJ653 3HN-1-50 -30  3NE-2 200 6.0 1 v T73 4SN6 680 1100 6SN6 1430 8.0 1
¢ QT Dif: -580 NS:-12 4SN-1 50 1.0 1 + KQ4 Dif: 0 NS:-9 4SS6 680 9.0 5
» QT IMP: -11 EW:1  4HN-1 50 1.0 3 a K2 IMP: 0 EW:9 4SN6 680 9.0 1
» 94 » 87 3HN-1 50 10 1 |]ae T8
v KQT8 v9 4HXN-1 100 20 1 v Q92 + m v KJ654
¢ 93 ¢ AKJ87642 4HN-2 100 -20 1 ¢ 8732 ¢ 65
& AJ864 & 52 4DE4 130 3.0 2 ||& AJT876 & Q954
®IVEN L KI652 3DE4 130 3.0 1 PV EN 4 J96543
N ~~34~ 9742 3NW4 630 -120 1[N ~4~55 ¢ A8
S ~~34~ 45 S ~5~55 ¢ AJT9
E ~3~~1 aK973 E ~~~~~ a3
W ~3~~1 W ~~~~~
# 27 & AKQTS 6NN6 990 Mean: 6NS6 990 1.0 1 ||# 28 a5 1DW1 -70 Mean: 4SW-2 100 60 1
v K7 6HS6 980 950  6NN6 990 1.0 1M v Q97 4SW-150 -150 3NW-2 100 60 1
* KJ7 Dif: 10 NS:1  6HS6 980 1.0 1 ¢+ QJ9532 Dif: -120 NS:2 4SW-1 50 50 2
» KQ7 IMP: 0 EW:-1 4NN6 490 100 1 » AK8 IMP: -3 EW:-5 3SW-1 50 50 1
4 862 s 974 4 AKQ73 # 986 1DW1 -70 20 1
v J986 vi4 v KJ I v AT85 2SW2 110 1.0 1
¢ 542 + AQT863 + AK84 ¢ T76 3sw3 -140 00 1
& T54 & 632 & 64 & T52 2SW3 -140 0.0 1
PIVEeN L3 PIVEN L JT42 2NW4 180 1.0 1
N 6 ~56 6 v AQT532 N 1~~~~ ¢ 6432 2DN-3 -300 -40 2
S 6~565 ¢9 S 1~~~~ 4SW4 420 70 1
E ~~~~~ aAJ98 E ~2~31 &QJ973 2DXN-3  -800 -12.0 1
W~~~~~ W~2~21
# 29 A T75 6SE6 -1430 Mean: 6SW-1 100 140 1 ||# 30 » T98543 4HN5 450 Mean: 5DXE-3 500 3.0 1
v 95 6HW6 -1430 -830  6HE-1 100 140 1 v KJ83 4HNG 480 390  4HN6 480 3.0 1
¢ 965 Dif: 0 NS:-12 4HES5 650 50 1 ¢ Ka Dif: -30 NS:2 4HS5 450 2.0 1
» JT954 IMP: 0 EW:12 5SW6 680 40 1 s K IMP: -1 EW:-3 4HN5 450 20 5
» AJ982 N # K64 4SW6 680 40 2 ||a AQ7 » K2 3NN5 460 2.0 1
v 642 v AKQJ7 4HE6 680 40 2 42 v Q95 4HS4 420 1.0 2
+ AK4 —I— *8 3NW7 720 3.0 1 ||e J9873 ¢ QT652 4HN4 420 1.0 1
& Q8 & K632 6SW6 <1430 120 1 ||& 432 & QJ7 1NS5 210 5.0 1
P¢VEN ,Q3 6SE6 1430 120 1 POIVEN L, J6 4HN-1 50 -10.0 1
N ~~~~~ ¢T83 6HW6 -1430 -12.0 1 N 4 ~543 ¢ AT76
S ~~~~~ oQJT732 6HE6 1430 120 2 ||S 4~543 +A
E ~~666 &A7 E ~~~~~ & AT9865
W ~~666 W ~~~~~
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#1: 9 BHE(78.2) #2: 3 ILRERI(65. 74) #3 2 S5 (60.69)
1 NS: Byt £ 58 FH0) 19 4 NS: Snits BREZBE(BAC) -3 16.59 : 3.41 Total VP: 33.71 Rank:
EW =GR 5%%([%%@ 3 EW: 2&1 EZ2R(FHOo) 1 IMP:| 36 13 14
S
#1 Py J75 2HE3 -140 Mean: 2HE3 140 40 2 ||# 2 » Q832 4SS4 620 Mean: 4SS4 620 0.0 12
v 876 3NW3 -400 -270 1NE2 120 40 1 v 98 4SS4 620 610  4SN4 620 0.0 1
+ Q85 Dif: 260 NS:4 1HE3 140 40 1 + KQ9 Dif: 0 NS:0 4HXW-3 500 -3.0 1
& QJ43 IMP: 6 EW:4 1HE2 110 40 1 & Q943 IMP: 0 EW:0
» QT93 s AK4 2NE4 180 3.0 1 KT a 764
v KT4 v QJ52 1HE4 -170 3.0 1 v QT742 I v KJ53
¢ AT6 ¢ J973 3NW3 -400 -40 2 ||e 876 ¢ T542
& K9 & T5 3NE4 430 -4.0 1 ||a AT7 & 52
®IVEON 4,862 3NE3 -400 -40 4 PIVEN , AJS
N ~~~~~ 9A93 N 4~~32 ¢A6
S ~~~~~ ¢Ka2 S 4~~32 ¢AJ3
E ~4443 aA872 E ~~~~~ &KJ86
W ~4443 W ~~~~~
#3 » Q8743 5DXE-1 200 Mean: 3NW-4 400 80 3 ||#4 » KT65 4HE4 -620 Mean: 4HE-2 200 50 1
v A864 2DW4 -130 80 2NW-3 300 6.0 1 v J83 4HE-2200 © 4SE-1 100 30 1
¢6 Dif: 330 NS:3 6DE-2 200 3.0 1 T Dif: -820 NS:-12 4HW-1 100 30 1
» 865 IMP: 8 EW:5 5DXE-1 200 3.0 1 » KQ852 IMP: -13 EW:-5 4HE-1 100 30 9
& AT52 aJ 5DE-2 200 3.0 1 ||s AJ94 s Q2 4HE4 620 120 2
v KQ3 v T52 5DE-1 100 1.0 2 ||v AQ75 + v K9642
* A2 + QJT8543 3DE4 130 5.0 1 ¢ 9632 + Q75
& KQJ7 & 92 3DE3 110 50 1 ||a6 & AJ3
®IVON LK 2DW4 130 <50 1 PEVEN ,873
N ~~~1~ ¢J97 3SN-4 200 70 1||N 3 ~~~~ T
S ~~~21 ¢+K997 5DE5 600 -12.0 1 ||S 3 ~ ~ ~ ~ ¢ AKJ84
E ~4~~~ aAT43 E ~~3~2 aT974
W ~4~~~ W ~~3~2
#5 a K 3NS5 660 Mean: 3NS5 660 9.0 1 |[|#6 » A87 4SN4 420 Mean: 4SN7 510 30 1
v 82 3HE-3150 270 5CN6 620 8.0 1 v J2 4SS4 420 400 4SS5 450 2.0 2
¢ 53 Dif: 510 NS:9 3NS4 630 8.0 1 + AQJT6 Dif: 0 NS:1 4SN5 450 2.0 5
» AQJ96542 IMP: 11 EW:3 3NS3 600 80 3 » KJ2 IMP: 0 EW:-1 4SS4 420 1.0 4
» Q94 # 7632 3HE-4 200 -20 1 ||a 532 s Q 4SN4 420 1.0 1
v J753 v AT94 3HE-3 150 3.0 1 ||e AQT —_ v K874 4HS-1 -50  -10.0 1
+ AK84 ¢ J76 3CN4 130 40 1 + K93 ¢ 8754
& K8 & 73 3CN3 110 4.0 1 ||as 9543 & QT86
PIVEN ,AJT8S 5CN-1 100 -90 3 POIVEN 4, KJIT964
N 42 ~24 ¢KQ6 48S-2 -200 -10.0 1 N ~~~54 ¢ 9653
S 42~24 QT92 S ~~~54 42
E ~~~~~aT E ~~~~~ aA7
W ~~~~~ W ~~~~~
#7 # 863 4SW-1100 Mean: 3NE-6 600 110 1 ||#38 a T2 1SS3 140 Mean: 3NN3 400 7.0 1
v KT6532 3CW3-110 20 1NW-3 300 70 1 v JT954 2SS2110 120 2SS3 140 1.0 2
* J6 Dif: 210 NS:2 5CW-2 200 50 1 + AQ9 Dif: 30 NS:1 2HS3 140 10 1
aT8 IMP: 5 EW:4 3NW-2 200 50 1 » 962 IMP: 1 EW:0 1SS3 140 10 3
s QT7 & AK94 5CW-1 100 20 1 (|aJ94 s 875 2852 110 00 2
v QJ + v7 4SW-1 100 20 1 ||v K863 v A7 2NN2 120 00 2
¢ T95 + K732 4SE-1 00 20 1 (|eJ5 * 8732 3CE-2 100 1.0 1
& AKQ42 S & 7653 3CW3 110 -40 5 ||a JT87 & AK53 1NE-1 5 20 1
PIVEN ,J52 2SE3 140  -40 1 ®¢VE®N 4, AKQ63 48S-1 50 5.0 1
N ~~2~~ ¢A9%4 3NE4 630 120 1 ||N ~3221 ¢ Q2
S ~~2~~ 4AQ84 S ~3221 ¢ KT64
E 31~3~ aJ9 E1~~~~ aQ4
W 31~3~ W1l~~~~
#9 » KJT8 3NS5 460 Mean: 3NS6 490 3.0 4 ||#10 » T9876 3NE-3 300 Mean: 3NE-3 300 9.0 1
v 93 3NS5460 380 3NS5 460 20 5 v KQT2 4HE-1100 -90  4SE-2 200 7.0 1
« QT9862 Dif: 0 NS:2 3NS4 430 20 1 * T2 Dif: 200 NS:9 4HW-2 200 7.0 1
aA IMP: 0 EW:-2 3NS3 400 10 2 » Q8 IMP: 5 EW:-5 4HE-2 200 7.0 1
# 96543 a2 5DN-1 50 100 1 || J532 » AQ4 4HW-1 100 50 4
v Q4 v KJT72 3NS-1 -50 100 1 || 987653 + v AJ 4HE-1 100 50 3
+ AJ3 75 *J + AK985 4HW4 620 -11.0 1
& Q96 & T8742 & 74 & AT6 4HES5 650 -11.0 1
®IVEeN LAQ7 PIVEN LK 4SXN-6  -1700 -17.0 1
N ~5~45 ¢ A865 N ~~~~~ 94
S ~5~45 ¢K4 S ~~~~~ 4 Q7643
E ~~~~~ aKJ53 E ~~532 & KJ9532
W ~~~~~ W~~532




114% a}i I rRpERF 2R E

==> R6

#1:9 &

$(94.38) #2: 3 IR EEIE (9. 17) #3: 2 2 2%51m(71.83)

NS: Bt &SRB EO) -14 12 NS: BS EZH(BC) -13 9.23 : 10.77| Total VP: 42.94 Rank:
EW: & 2522 EA0) 13 EW: [Ri8Z BE<F(F0) 14 IMP:{ 13 : 15 14
. I
# 11 » K98 4HS6 480 Mean: 4HS6 480 20 1 [[|# 12 & K9874 4HE5 -450 Mean: 4HW-1 50 10.0 1
v Q3 4HS5450 430  3NN6 490 20 2 vdJ 4HWS5 -450 -400  4HW4 420 1.0 3
+ AQ64 Dif: 30 NS:2 4HS5 450 10 7 ¢ KT4 Dif: 0 NS:-2 3NwW4 430 1.0 1
» K853 IMP: 1 EW:-1 3NN5 460 1.0 2 » AQ84 IMP: 0 EW:2 4HWS5 450 20 5
» J74 # A6532 4HS4 420 00 1 ||a Q53 s AJT2 4HE5 450 20 4
v 65 v K82 3HS4 170 6.0 1 v AQT7 I v K8643
¢ T732 ¢ 85 ¢ A72 + Q83
& AT42 & QJ7 & K97 T
*eveN QT ®IVeN o6
N ~ 5 ~5 ¢ AJT974 N 2~~~~ ¢952
S ~ 5~5 ¢ KJ9 S 2~~~ ~ 4 J965
E ~ ~~~ &9 E ~~534 aJ6532
W ~ ~~~ W ~~535
#13 » 3NN3 600 Mean: 4SS5 650 40 6 ||# 14 » KQ96532 6HE6 -980 Mean: 6DW-5 250 120 1
v Q9872 4SS5650 510 3NS5 660 4.0 1 o 5HW6 -480 -450  6HE-1 50 110 1
« KJ954 Dif: -50 NS:3  4NN4 630 3.0 1 o K74 Dif: -500 NS:-11 5HES5 450 0.0 2
» A43 IMP: -2 EW:-4 3NN4 630 3.0 2 » KQ7 IMP: -11 EW:1 4HE5 450 0.0 1
& T952 N a J73 3NN3 600 3.0 2 ||aAJ7 s 84 5HW6 480 1.0 1
v6 v KT543 4HN-2 200 -120 1 || Q v AKJT952 5HE6 480 1.0 1
+ AQTT72 —I— + 863 6HN-3 300 -13.0 1 ||e AQJ962 S 4HE6 480 1.0 4
& KT8 & 62 & T64 & AJ95 4SXN-3 -500 -2.0 1
®¢VeN , AKQB64 POIVEN LT 6HE6 980 -11.0 2
N 6~3~4 oAJ N ~~~~~ ¢ 87643
S 6~3~4 o S ~~~~~ 4 T853
E ~~~~~ &aQJ975 E 5~6~5 832
W ~~~~~ W6~6~5
# 15 » Q2 2SS2 110 Mean: 1NN3 150 20 3 ||# 16 s K5 1NS1 90 Mean: 3NS4 430 6.0 2
v KJT7 1NN3 150 90  1NE-3 150 2.0 2 v QT97 3NS-1-50 210  3NN3 400 50 1
+ QT5 Dif: -40 Ns:1 2SS2 110 1.0 4 + KJ86 Dif: 140 NS:-3 1CW-3 300 30 3
& A954 IMP: -1 EW:-2 1NE-2 100 00 2 a J63 IMP: 4 EW:6 2SE-2 200 00 1
4 964 & A87 1NE-1 50 1.0 2 ||s AJT8 4 Q643 2NS3 150 -2.0 1
v Q95 v A643 2881 100 50 1 ||v KJ54 —_ v 832 1NS3 150 20 1
+ KJ82 ¢ A7 ¢ AT ¢ 953 1NS2 120 -3.0 2
& 872 & QJ63 & 87 & Q42 1NS1 90 3.0 1
PIVEN ,KJITS3 PIVEN L0972 1CW-1 100 -3.0 1
N ~ 21 ¢82 N 44~~3 v A6 3NS-1 50 6.0 1
S ~ 2 ¢ 9643 S 44~~3 ¢Q742
E ~ ~ » KT E ~~~~~ & AKT9
W ~ ~ W~~~~~
# 17 » AJ9762 2SN5200 Mean: 4SN5 450 50 3 [|#18 » T8543 ANE3 -150 Mean: 1NW3 150 2.0 6
v T85 3NS-3-150 240  4SN4 420 50 1 v QT6 1NW3 -150 -200 1NW2 120 20 1
o AKT Dif: 350 NS:-1  3NS3 400 40 1 * K2 Dif: 0 NS:2 1NE3 150 2.0 2
a7 IMP: 8 EW:9 3SN5 200 -1.0 1 » Q73 IMP: 0 EW:-2 1NE2 120 20 1
4T3 » Q854 2SN5 200 -1.0 5 ||a A2 » KQJ6 1NW4 180 1.0 1
v 963 v K74 2NS2 120 3.0 2 ||w 7543 | v A82 3NE3 400 50 2
¢ 8732 ¢ Q5 3NS-3 150 9.0 1 ||e QJT5 ¢ A3 3NE4 430 60 1
& KQ52 & AJT9 & K65 & T982
®sveN K ®eveN ,07
N ~5653 vAQJ2 N ~~~~~ ¢ KJ9
S ~ 6 53 ¢J964 S ~~~~~ 498764
E ~ ~ ~ ~ #8643 E 3~3~3 &AM
W ~ ~~~ W 3~3~3
#19 » Q6 4HN5 450 Mean: 4SXW-3 800 8.0 1 [|# 20 » KQ8 4HS-1-100 Mean: 4HS4 620 11.0 3
v QJ8B73 4HNG 480 460  4HN6 480 10 5 v KT42 1NN-1-100 70  2NN4 180 3.0 1
o A732 Dif: -30 NS:0 4HN5 450 00 5 + K8 Dif: 0 NS:-5 3HN3 140 20 1
» 54 IMP: -1 EW:-1 5DS7 440 1.0 1 » AK43 IMP: 0 EW:5 4HS-1 100 -50 3
& AT952 s KJ743 5DS5 400 20 1 ||aT6 & A542 4HN-1 100 -50 1
v 652 v K4 2HN5 200 -60 1 ||e A3 + v Q9 1NN-1 100 -50 2
¢ JT6 5 ¢ AJ642 ¢ T953 4HS-2 -200 -70 1
& Q3 & JT986 & 9872 & Q65 3NN-2 200 -70 1
®IVeN o8 POIVEON L JI73 2NN-2 200 -70 1
N ~ 6 ~2 v AT9 N ~~32~ ¢ J8765
S ~ 6 ~ 2 ¢ KQ984 S ~~32~ 40Q7
E ~ ~ 2 ~ & AK72 E ~2~~~ aJT
W~~~2~ W~2~~1




1142 E<Z 2 ABERE 2B h

==> RT

#1: 9 BXHE(110.35) #2: 3 JEFFERFE(91.35) #3: 14 U31(79.67)

NS: BREGN &52BGHO) -14 5 NS: $BE%E BER(BAC) -9 VP:| 8.50 11.50 | Total VP: 51.44 Rank:
EW: =45 E552EA0) 9 EW: B £I3%K(B80) 14 IMP:| 21 : 25 13
_ -
# 21 » 87 4HS-1 -100 Mean: 4HS5 650 9.0 # 22 » 832 4DS4 130 Mean: 4SXW-2 500 60 5
v AQ3 58S-1-100 270  4SS4 620 80 1 v 9764 4SXE-2 500 4SXE-2 500 6.0 1
+ A865 Dif: 0 NS:-9 4HS4 620 80 4 + K873 Dif: -370 NS:-3 3CXS3 470 6.0 1
& J543 IMP: 0 EW:9 2HS4 170 3.0 1 » 96 IMP: -9 EW:-6 5DN5 400 40 1
# JT93 s K 5S8-1 -100  -9.0 3 ||a QJI765 & AKT4 4DS4 130 30 1
vT v 9654 4HS-1 100 90 2 || J832 _— v QT 4SW-1 100 -40 1
¢ QJT2 | ¢ K9743 6HS-2 200 -10.0 1 ||e Q5 ¢ T64 3SW-1 100 -40 1
& T872 & A96 a4 & KQT8 3SE-1 100 40 1
®*¢VeEN 4, AQ6542 PIVEN , 3SW4 170 9.0 1
N ~~ 542 ¢KJ8T2 N 342~1 v AK5 5CXS-3  -500 -13.0 1
S ~~542 o S 342~1 ¢ AJ92
E ~~~~~ aKQ E ~~~2~ &AJ7532
W ~~~~~ W ~~~2~
# 23 a3 2DXN-1-200 Mean: 4HN5 650 12.0 1 ||# 24 s Q5 3SW3 -140 Mean: 3SE-2 100 50 1
v AT84 3DS3110 o0 3NW-2 200 50 1 v QJ943 2SE3 -140 3NW-2 100 50 1
+» AQJ7532 Dif: -310 NsS:-5 3DS3 110 30 2 ¢5 Dif: 0 NS:-2 4SE-1 50 40 2
a5 IMP: -7 EW:-3 3DN3 110 30 4 » QU872 IMP: 0 EW:2 3SE-1 50 40 1
» KQ8 a T974 3DN-1 100 3.0 1 ||aJT & AK9876 1SE1 80 0.0 1
v K2 + v Q93 2NW2 4120 30 1 ||e T82 v K5 3SW3 140 20 1
* KT94 * 86 1NWA1 90 3.0 1 ||e 97632 * KQ 3SE3 140 20 3
& A983 S & KQ72 2DXN-1 200 50 1 ||a& A94 & KT3 2SE3 140 20 2
®IVEN AAJ652 5DXN-2  -500 -11.0 1 PIVEN 4432 2NW3 150 20 1
N ~33~~ ¢J765 3HXN-2 500 110 1 [|N 1~ 2~ ~ ¢ A76 4SE4 420 -80 1
S ~ 3~~ S 1~2~~ o AJT84
E 1 ~11 aJT64 E ~2~23 a65
w 1 ~11 W ~1~21
# 25 » AT952 4HS-3 -150 Mean: 3HS3 140 40 1 ||# 26 » 7542 1NS1 90 Mean: 3NS3 600 11.0 1
v 752 2HS3 140 -20  2HS3 140 40 5 v 92 2NS-2 -200 3DE-3 300 6.0 1
+ A654 Dif: -290 NS:-4 4HS-1 50 1.0 1 * AQJ7 Dif: 290 NS:1  1NS4 180 3.0 1
aT IMP: -7 EW:-4 3DN-1 50 1.0 1 » Q73 IMP: 7 EW:7 1NS2 120 20 2
a J4 & KQ873 4HS-2 100 20 4 ||a J986 & AK3 1NN2 1200 20 1
v KJ8 v 94 4HS-3 150 -40 1 ||v AQT7 + v 854 2Ccs3 110 10 2
¢ KT32 ¢ QJ 5HXS-3  -500 -10.0 1 ||e KT82 ¢ 543 1NS1 90 1.0 1
& K642 & 9875 &5 & 9862 1NN1 90 10 1
POVERN L6 POVEN L QT 1NS-1 100 50 1
N ~2 3 ~~ ¢ AQT63 N 3 ~~~~ ¢ KJ63 3NS-2 200 -70 1
S ~23~~ 4987 S 3~~~~ 496 2NS-2 200 -70 1
E 1 ~ ~ ~ aAQJ3 E ~111~ &AKJT4 1NS-3 -300 -9.0 1
W 1 ~~~ W -~111~
#27 & KJ96 2HW4 -170 Mean: 3NW-1 50 70 1 ||# 28 s QJ2 2HS3 140 Mean: 2HS3 140 60 1
v 654 3NW3 -400 -250  3NE-1 50 70 1 v Q652 4HS-1 -100 4HS-1 100 00 7
¢ 986 Dif: 230 NS:2 2NW2 120 40 1 ¢+ Q2 Dif: 240 NS:6 4HN-1 -100 0.0 1
» 753 IMP: 6 EW:4 1NE2 120 40 1 » AKJ4 IMP: 6 EW:0 3NN-1 100 0.0 1
74 4 ATS 3HE3 140 30 1 ||s KT83 # 954 3HS-1 100 0.0 1
v AK98 v QT32 3HW4 470 20 1 ||e K | v T984 4HS-2 200 -30 2
+ KQ54 ¢ T72 2HW4 170 20 1 ||e AJ7654 + K83 4HN-2 200 3.0 1
& QJ9 & KT4 3NW3 400 -40 3 ||s 65 & T97
PIVEN 4, Q832 4HW4 420 50 2 PIVEN 4 A76
N ~ v J7 4HE4 420 50 1[N 3~3~1 ¢ AJT3
s ~ * AJ3 3NW4 430 50 1S 3~3~1 ¢T9
E ~ » A862 E ~~~~~ &Q832
w ~ W~~~~~
# 29 » K94 4SS4 620 Mean: 4SS6 680 20 7 ||# 30 & KT5 3SS-1-50 Mean: 5CXE-1 100 40 1
v KJ2 4SS6 680 630 4SS5 650 1.0 3 v AT8632 4CE4 -130 5DE-1 50 30 1
¢ 64 Dif: -60 NS:0 4SN5 650 1.0 2 ¢ T2 Dif: 80 NS:0 5CE-1 50 30 2
» K9764 IMP: -2 EW:-2 4SS4 620 0.0 1 » 96 IMP: 2 EW:2 3SS-1 50 0.0 2
# 863 N a7 3SS6 230 90 1 ||a 98 # 432 4CW4 130 20 1
v Q9743 v A865 v5 v K97 4CE4 130 20 5
* T3 + + QJ87 + KJ865 + AQ9 W4 130 20 1
& J52 & AQT3 & AKJ43 & T872 5S8S-3 150 -3.0 1
* ® N , AQJT52 PIVEeN L, AQJ76
N ~ 53 oT N ~~22~ ¢QJ4
S ~ 5 3 ¢ AK952 S ~~22~ 4743
E ~ ~~ a8 E 44~~1 Q5
w ~ ~~ W 44~~1
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==> R8

#1:9 &

Bi(115.55) #2: 3 :H:’ZZ%%—J(IW 74) #3: 6 LLYEE®7.3)

1 NS: [t &2 5BEH0) 17 1 1 NS: E30E SPECE(BAC) 11 11.50 : 8.50 Total VP: 62.94 Rank:
EW Bomt §%%(E§C) -11 EW: BREISC SEXFE(FO0) -1 IMP:| 16 12 13
I
#1 Py 832 4SE5 -450 Mean: 2DXN-2 2300 50 1 |[|#2 & QJ94 6DS6 1370 Mean: 6DS6 1370 80 7
v J6 4HWG6 -480 -490  4SE5 450 1.0 2 v KQJ8 6DS6 1370 1010  3NS7 720 7.0 1
¢ J87654 Dif: 30 NS:1  4HW5 450 1.0 1 *J7 Dif: 0 NS:8 3NN7 720 7.0 2
a Q4 IMP: 1 EW:0 3NW5 -460 1.0 1 » 762 IMP: 0 EW:-8 5DS6 620 9.0 3
s A5 » KQT64 5HE6 480 0.0 1 ||s KT852 s 73 5DN7 640 9.0 1
v AK72 v 9543 4SE6 -480 0.0 1 v 52 I v T7643
¢ Q93 . 4HW6 480 00 4 ||eQ + 98
& K765 & AT92 4HE6 -480 0.0 2 ||& AK543 & JT98
PIVEON ,J97 6HE6 -980 -10.0 1 ®PIVEN , A6
N ~~~~~ QT8 N ~6~~2 vA9
S ~~~~~ ¢ AKT2 S ~6 ~~ 2 ¢ AKT65432
E 6~654 aJ83 E~~~~~aQ
W 6~654 W ~~~~~
#3 » KQT 3NS3 400 Mean: 3NS7 520 8.0 1 ||#4 » KQ62 2HE-1 100 Mean: 3NN3 600 10.0 1
v 94 3CS3110 170  3NS3 400 60 1 v A64 2CS4130 170  3HE-3 300 40 1
+ AB2 Dif: 290 NS:6 3SE-2 200 1.0 1 ¢ 9765 Dif: -30 NS:-2 3HE-2 200 1.0 1
» JT654 IMP: 7 EW:2 2NS4 180 00 1 » 95 IMP: -1 EW:1 4CS4 130 1.0 1
& J963 s 752 3CSs4 130 1.0 2 ||a T84 & J53 3CS4 130 1.0 1
v AKQ75 v J6 2NS3 150 1.0 1 [|v KQT3 + v J8752 2Ccs4 130 1.0 7
¢ 985 ¢ Q743 2Ccs4 130 1.0 1 [|e T82 ¢ AQ3 2HE-1 100 20 1
&3 & A987 3CS3 110 20 2 ||s KQ2 & T6 2CS3 110 20 1
PIVEeN ,A84 3CN3 110 2.0 1 POIVEN 4 A7
N 3~~~1 ¢T832 2DE-1 00 20 1(|N 43 ~42 99
S 3~~~1 +KJT 2CSs3 110 20 1 S 43 ~42 4KJH
E ~~~~~ aKQ2 2CSs2 90 20 1 E ~~~~~ & AJ8743
W ~~~~~ W ~~~~~
#5 # 653 3HS3 140 Mean: 3HS4 170 50 1 ||#6 » AT632 4SN-1-50 Mean: 3SN4 170 50 1
v AJ6542 4HS-1-100 -20  3HS3 140 40 2 v AT73 4SN-2-100 -30  3SN3 140 50 1
. Q2 Dif: 240 NS:4 3HN3 140 40 1 ¢ T6 Dif: 50 NsS:-1 3DS3 110 40 1
A T6 IMP: 6 EW:2 2HN3 140 40 1 » J9 IMP: 2 EW:2 2DS3 110 40 1
a T2 » KQ97 4CW-1 50 20 1 ||s KJ8 475 4SN-1 50 1.0 1
v 87 v K93 4HS-1 100 20 3 ||v QJ964 —_— v K2 3SN-1 50 1.0 3
¢ 63 + KT87 4HN-1 100 20 1 ||e 4 + 9852 4SN-2 100 -20 4
& AQJ9832 & 74 3HN-1 100 -20 1 ||& Q874 & AK653 2HW3 140 30 1
PIVEeN ,AJ4 2NW3 150 -40 1 PIVEN 4, QY4 4SXN-2 300 7.0 1
N ~121~ «QT 4HN-2 200 50 1||N ~3~32 ¢85
S ~121~ ¢AJ954 3NS-3 -300 7.0 1 S ~3~32 ¢ AKQJ73
E 3~~~2 aK5 E 4~2~~ aT2
W 2~~~2 W 4~2~~
#7 & A96 4S5S4 620 Mean: 5SS5 650 80 1 ||#38 » Q54 3NE3 -400 Mean: 5DE-2 100 100 1
v QJB4 4SS5650 310 4SS5 650 8.0 1 v Q7 3NW3 -400 -380 4SE4 420 1.0 1
. Dif: -30 NS:7 4SS4 620 7.0 7 ¢ 9542 Dif: 0 NS:-1  3NW3 400 1.0 6
» KQ9865 IMP: -1 EW:-8 3SS4 170 40 1 » KT93 IMP: 0 EW:1 3NE3 400 1.0 2
» 8732 T 6SS-1 100 90 1 97 » AJT62 4SE5 450 20 1
v K962 + v T53 48S-1 -100 9.0 2 ||v A9853 v KT 3NE5 460 20 1
+ KQ72 + AJ9654 6SXS-4 1100 -16.0 1 ||e AK6 + JT83 3NE4 430 20 1
aJ S & AT2 & J82 & A7 3NW6 490 3.0 1
®eveN L KQJ54 ®IveN L K83
N 4~~4~ A7 N ~~~~~ ¢ J642
S 4~~3~ 4783 S ~~~~~ 4Q7
E ~4~~1 a743 E ~4453 Q654
W ~4~~1 W ~4453
#9 » KT43 4HN4 420 Mean: 5NN5 460 50 1 ||#10 » 32 4SW4 -620 Mean: 3SW-1 100 60 1
v K3 4NN5 460 250  5HS5 450 50 1 v KT832 2SW5 -200 -140  2SW-1 100 60 1
+ Q54 Dif: -40 NS:5 4NN5 460 50 2 * K8 Dif: -420 NS:-10 1NWA1 90 20 2
» AK63 IMP: -1 EW:-5 4NN4 430 50 2 » AT74 IMP: -9 EW:2 2SW2 410 1.0 2
a7 # J9862 4HN4 420 50 1 ||s AQ875 » K94 1NW2 120 1.0 1
v JT62 v 94 3NN5 460 50 1 ||e AJT7 + v 64 3SW3 140 00 2
¢ AJT983 *2 3NN4 430 50 1 ||e A4 ¢ QJT65 3SW4 470 1.0 1
& Q2 & T9875 6NN-1 50 7.0 2 ||a& J85 & 962 2SW5 200 20 2
PEVEN ,AQ5 5HN-1 50 7.0 1 POVEN L, JT6 1NW5 210 20 1
N ~~ 445 ¢AQ875 6NN-3 150 90 2 ||N 2~3~~ ¢ Q9 4SW4 620 -100 1
S ~~445 ¢K76 S 2~3~~ 49732
E ~~~~~ aJ4 E ~2~21 &KQ3
W ~~~~~ W ~2~21




(4FF<g s MEEIE 2P e

==> RY

#1:9 &

B(128.06) #2: 3 :H:’ZZ%E%(HS 23) #3: 6 L1175(103.48)

NS: Byt &858 (FH0) -1 4 NS: Shnits BREE(BAC) 14 12.51 7.49 Total VP: 75.45 Rank:
EW: =& 252=EH0) 10 EW: E2% 21£21E(50) 1 IMP:| 15 : 8 1
I
& AJ6 2SS3 140 Mean: 3SS4 170 1.0 1 [[#12 & 87542 3DW-150 Mean: 6DXW-4 800 12.0 1
v JT3 2SS4170 130  3DW-3 150 1.0 1 v AK5 3NN-1 -100 5CN5 600 11.0 1
» J87 Dif: -30 NS:0 2SS4 170 1.0 2 ¢ A Dif: 150 NS:-1  3NN3 600 11.0 1
» Q984 IMP: -1 EW:-1 3SS3 140 00 1 » AJ32 IMP: 4 EW:5 2CN4 130 20 2
a 832 2853 140 00 5 ||a K9 a JT63 3DW-1 5 1.0 1
v Q8765 3DW-2 100 1.0 1 ||e QJ2 I v T74 5CN-1 100 -50 2
¢ K 2852 110 1.0 1 ||e J9764 + KQ852 3NS-1 100 -50 1
& JT63 1NS1 90 1.0 1 ||aQT7 a5 3NN-1 100 -50 2
» T9754 3DW-1 50 20 1 ®IVEN L, AQ 4SN-2 200 -7.0 2
v A92 N 5~433 9863 4SN-3 -300 -9.0 1
+ AQ4 S 5~433 ¢T3
» K2 E ~ 2~~~ & K9864
W ~2~~~
» 854 4HW-2 200 Mean: 4SXS5 990 12.0 1 ||# 14 » A3 3NN5 460 Mean: 3NN6 49 1.0 1
v J872 4HW-2200 290 4HXW-2 500 50 1 v Q7642 3NN5 460 3NS5 460 0.0 3
+ AJ85 Dif: 0 NS:-3 3NW-4 400 30 1 ¢ 94 Dif: 0 NS:0 3NN5 460 0.0 9
» K2 IMP: 0 EW:3 3NE-4 400 30 1 » AK63 IMP: 0 EW:0 5DS5 400 20 1
N s Q72 5CE-3 300 0.0 1 62 s QJT94
v 963 5CE-2 200 -3.0 1 ||e AT953 vJ
+ ¢ Q3 4HW-2 200 -30 6 ||e 875 ¢ QT
& T9854 3HW-2 200 3.0 1 ||s J87 & QT942
» KJT96 1HW2 110 9.0 1 ®¢VEeN , K875
v N ~54~5 ¢ K8
» K9742 S ~54~5 ¢ AKJ632
& 763 E ~~~~~ ab5
W ~~~~ ~
» QJT42 4SN7 710 Mean: 6SN6 1430 120 1 ||# 16 » QT32 3NE3 -600 Mean: 2HE3 -140 100 1
v AQT 4SN7 710 760 5CXE-5 1100 8.0 1 v K94 4HE4 -620 3NE3 -600 0.0 2
» AK94 Dif: 0 NS:-2 5SN7 710 20 2 ¢ 6 Dif: 20 NS:0 4HE4 620 1.0 2
a7 IMP: 0 EW:2 4SS6 680 -20 1 » J9873 IMP:1 EW:1 3NW4 630 1.0 2
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